Worksheet: Balancing Equations Name KEY

II.

Fill in the blanks with the most appropriate term:

A chemical equation tells the story of a chemical
reaction. Reactants are the starting substances in the reaction
while products are the new substances that are formed. The

large numbers in front of some of the formulas are called

coefficients . These numbers are used to balance the

equation because chemical reactions must obey the Law of

Conservation of Matter. The number of atoms of each element on
both sides of the equation must be equal because matter
cannot be created or destroyed . When balancing
equations, the only numbers that can be changed are coefficients

remember that __Jormulas/subscripts  must never be changed in order to
balance an equation.
Balance the following equations:

g eq

1Al + 302, > 2A1:03

C3H3 + 502 - 3COz + 4Hgo

A!(N03)3 + 3NaOH = A|(OH)3

+

3NaNO3
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10.

2KNO3; > 2KNO,  + 0O:

30, + £S5y 2 CO; + 250;

2KCIO3 > 2KCl + 30,

3BaF; + 2K3sPOs > Baz(POs4). + 6KF
H:504 + Mg(NOs). = MgSQO4 + 2HNO;
2Al + 3H2504 > A-IZ(SO4)3 + 3H:z

WOz + 3Ha . > W+ 3H20
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Worksheet: More Practice Balancing Equations ~ Name KEY

Balance the following equations.

1. Fe + 2HCI=> FeCl, + Ha

2. 3Ca(OH); + 2H3PO4 > Casz(PO4): + 6H0
3. CaBr; + H2504 > 2HBr + CaS0q

4, 2NaHCO; > Na:CO; + H.O + CO:

B. 3FeCl; + 2Na3PO4 > Fe3(PO4). + sNaCl

6. Sb203 + 2NaOH > 2NaSbO; + H.0

7, 6Na,O + P4O10 = 4NazPO4
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Worksheet: Word Equations Name

Substitute symbols and formulas for words, then balance each equation.

1. sodium chloride + lead (II) nitrate = lead (II) chloride + sodium nitrate

2 NaCl + Pb(NO;); = PbCl, + 2 NaNOj;

2. iron + chlorine = iron (III) chloride

2Fe + 3Cl; 2 2 FeCls

3. barium + water - barium hydroxide + hydrogen

Ba + 2H,0 = Ba(OH); + H,

4, When chlorine gas reacts with methane, carbon tetrachloride and hydrogen
chloride are produced.

4CL + CHy, » CCl, + ¢4 HCI

B. When sodium oxide is added to water, sodium hydroxide is produced.
Na;O + H,0 2 2 NaOH
6. Ina blast furnace, iron (III) oxide and carbon monoxide gas produce carbon
dioxide gas and iron.

Fe;0; + 3CO 2 3C0O; + 2Fe

7 Iodine crystals react with chlorine gas to produce iodine trichloride.

I + 3ChL 2 2ICI
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BALANCING EQUATIONS: FORMULAS GIVEN

Balance the following equations:

L.

12

[¥3]

10.

11.

12.

27.

Z Al + N,— 7AN
2, Fe + 20, - FeO,
CaCO, — CaO + CO,
NHNO, — N,0+ZH,0

PR + ClL,— JKCl+ 1,
PbNO,),+ ZHCl— PbCl, + ZHNO,
7Ba0, — ] Ba0 + 0O, ,
LAl +JH,S0, =  AL(SO,), —BH
CH, +3CL —» CHC, +73Hq
MeCl, +7NaOH — Mg(OH), + 2 Nall
1L AgNO, + CuClL — ZAgCl + Cu(NO,),
Lzns +%0, — )Zn0 + LSO,
LNa +lH,0 — H, +)NaOH
FéliBaC]z %ngco_‘ —»ﬂff_éaco_, +'§Nﬁ4c1
LCH, 4f0, —[1co, +{;H0
INa +7H,0 —>Z\‘aOH + H,
Fe + JEeCl -— 771=eC12
Y BaOH), +{AICL, — LAKOH), +3BaCl,
HC0, +)KOH —» K0, +7 1,0
7 CHCL + CalOH), _.‘t::Hcg + CaCl, +7 H,0
(NH),Cr,0, —» N, + Cro, +Hmo
Znsh, +(H,0 — % ZaOH), <ZStH,
[1HCIO, + P,0,, — L\'H_.,Pq +{c1,0,
4cHCl + sicl gNa—» (CHSi + P Nacl
sb,S, +1HCI — THSHC, + B HS
S +ANE, — NI + INHBr

LKF, +]H0—1TKr + 0O, ‘[-f\'HF
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CHEMISTRY - CHAPTER 3: EQUATIONS

2. NaCO, +Hc + N, > ZNacN  +3co
9. KFe(CN), +(GH,S0, +(H,0 —7K.S0,+ FeSO, +2(NH,),50, +CO
BALANCING CHEMICAL EQUATIONS - NAMES GIVEN Practice Sheet #2
L. Potassium reacts with water yielding potassium hydroxide and hydrogen
2K+ 2H0 7 2koit + He
2. Chlorine reacts with potassium bromide yielding potassium chloride and bromine

Cly + 2¥B¢ = 2KCl *+ B,
Zinc +hydrogen chloride yields zinc chloride and hydrogen
Zn ot 2WCL = 2, (o ity

4. iron +water — Fe,0, + hydrogen

L

3fe £ Uit 0 — Fes 0, + Ul

Z
5. zinc sulfide + oxygen — . zinc oxide + sulfur dioxide
S e + ) ‘ .
AZnS + 30, - 2 2,0~ 250,
6. Cills % € =+ & & EO
Ciotrie ?CIZ. =2 10 + 16Hc!
7. Aluminum + sodium hydroxide — Na,AlO, +  hydrogen
A £ 6NPa0O—= ZR0a, 41O, + 3H
EX 2 -
8. cH, + 0, — €O, + HO
2C, Wy ~ 50, — HC & ®
9. Ammcniaz:i—oxyzéen — étr?ga molloxidle‘-+\gt<321: < ”;U
Uk, + 50, = 4D + bl
10. Phosphorus + iron(Ill) oxide — tetra-phosphorus decoxide +iron
2P+ of,05 — 30,0+ 20
€vs o

LE Cupric sulfide +oxygen — copper(I) oxide + sulfur dioxide

b(uS + 50, =72 ZCu, 0+ #4850,

12, sodium bicarbonate + hydrogen sulfate — sodium sulfate + water +carbon dioxide
ZNeWCOy « U, Soy, > Na, o, *ZH,0 + 2Co,
13 Sodium carbonate + silvernitrate — sodium nitrate + silver carbonate
N& CO y ¥ ) A \ i T, % o
2Oz + 2 ﬁMDs => ZNOxNO3 +A52 LOS
14. Calcium +oxygen — calcium oxide
2Ca+0; = 20
<, 0
13. Zinc +fe§1‘1('c£o%{?de — zincoxide + iron

B A 4 5
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16.

17.

18.

19.

CHEMISTRY - CHAPTER 3: EQUATIONS

Magnesium bromide + chlorine — magnesium chloride + bromine
; . s
Mo BC, + Cle =5 Wlﬁ C(, + B(L
Sodium + water — sodium hydroxide + hydrogen
ZNa * 2k, O =2 ZANaqoH + It4
Potassium nitrate — potassium nitrite + oxygen
Calcium oxide + hydrochloric acid — calcium chloride + water

CaO + Zla =2 Ca((, « K, 0

ERRO 20— Mapnesivm—+—oxygen———magnesivm-pxide—

21,

22,

2
w

c —

Iron + oxygen — il'on{H)oxide/ )
2Fe 40, =7 270

Water + dinitrogen trioxide — nitrous dcid
420 + N, Oz — Z2KHNO,

Sodium oxide + water — sodium hydroxide
Na,O « |, 0 =7 ZANa DK

Iron(IIl) oxide + carbon monoxide — iron + carbon dioxide
Fe,Os * 2CO 77 LFe +3C0,

Methane (CH4) + oxygen — carbon dioxide + water

Chy+ 20, — (9, + 24, ©
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